PACKAGED ASSEMBLIES FOR CLAMPING 1/2", 9/16" OR 5/8" O.D. TUBING (ALSO CLAMPS 10mm-16mm) 3/4" TUBE CENTERS

REPLACE "2S" IN PART NUMBERS WITH "1S" FOR CHANNEL AND LADDER TRAY INSTALLATIONS
REPLACE LETTER "S" IN PART NUMBERS WITH LETTER "A" FOR ALUMINUM COVER BAR
ADD SUFFIX "LT" TO THE END OF PART NUMBERS FOR LADDER TRAY INSTALLATION
FOR DELRIN CLAMP BODIES ONLY REPLACE "-2S" WITH "-NH" (NO HARDWARE)

1/2",9/16" & 5/8" 0.D. TUBE CLAMP ASSEMBLIES

(METRIC 11mm-16mm) 3/4" TUBE CENTERS TUBING O.D. SIZE *OPTION: ADD SUFFIX CODE FOR
PART NO. #TUBES NUMBER LEGEND DESIRED BOLTING LOCATIONS

2C-DW-0-1-8910-3-1S 1 1/2"0.D.=8 H2 = BOLT SET FOR EVERY 2 TUBES

2C-DW-3/4-2-8910-3-2S 2 9/16" 0.D.=9 H3 = BOLT SET FOR EVERY 3 TUBES

2C-DW-3/4-3-8910-3-2S 3 5/8"0.D.=10 H4 = BOLT SET FOR EVERY 4 TUBES

2C-DW-3/4-4-8910-3-2S 4 1/2",9/16" & 5/8" = 8910 H5 = BOLT SET FOR EVERY 5 TUBES

2C-DW-3/4-5-8910-3-2S 5 H6, ETC.

2C-DW-3/4-6-8910-3-2S 6 SPACING BETWEEN TUBING EX: 2C-DW-5/8-19-8-3-25-H5

2C-DW-3/4-7-8910-3-2S 7 WITH 3/4" CENTERS

2C-DW-3/4-8-8910-3-2S 8 1/2" 0.D.=1/4" *To exclude hardware replace

2C-DW-3/4-9-8910-3-2S 9 9/16" 0.D.=3/16" "2S" with "NH" (NO HARDWARE)

2C-DW-3/4-10-8910-3-2S 10 5/8"0.D.=1/8" for Delrin clamp bodies only.

2C-DW-3/4-11-8910-3-2S 11

2C-DW-3/4-12-8910-3-2S 12 COVER PLATES/BAR

2C-DW-3/4-13-8910-3-2S 13 1S = ONE 316SS COVER

2C-DW-3/4-14-8910-3-2S 14 1A = ONE ALUMINUM COVER

2C-DW-3/4-15-8910-3-2S 15 2S =TWO 316SS COVERS - GANG CLAMPING

2C-DW-3/4-16-8910-3-2S 16 2A =TWO ALUMINUM COVERS - GANG CLAMPING

2C-DW-3/4-17-8910-3-2S 17

2C-DW-3/4-18-8910-3-2S 18 *ONE COVER BAR REQUIRED FOR LADDER AND

2C-DW-3/4-19-8910-3-2S 19 CHANNEL TRAY INSTALLATION ONLY.

2C-DW-3/4-20-8910-3-2S 20

2C-DW-3/4-21-8910-3-2S 21 PART NUMBER EXAMPLE FOR LADDER

2C-DW-3/4-22-8910-3-2S 22 TRAY INSTALLATION

2C-DW-3/4-23-8910-3-2S 23 EX: 2C-DW-3/4-12-8910-3-1SLT

2C-DW-3/4-24-8910-3-2S 24 DESCRIPTION: STYLE 2C DELRIN CLAMP ASSEMBLY

2C-DW-3/4-25-8910-3-2S 25 3/4" - 3/4" TUBE CENTERS

2C-DW-3/4-26-8910-3-2S 26 12 - 12 TUBE CAPACITY

2C-DW-3/4-27-8910-3-2S 27 8910-1/2",9/16",5/8" O.D. TUBING OR METRIC 11mm TO 16mm

2C-DW-3/4-28-8910-3-2S 28 3 -3 POINT CONTACT

2C-DW-3/4-29-8910-3-2S 29 1S = ONE 316SS COVER w/ HARDWARE

2C-DW-3/4-30-8910-3-2S 30 LT - SPECIFIES EXTRA LONG BOLTS FOR LADDER TRAY

2C-DW-3/4-31-8910-3-2S 31 RUNG MOUNTING.

PACKAGED ASSEMBLIES WITH 316 STAINLESS COVER AND HARDWARE
** FIBERGLASS ** CHANNEL TRAY CLAMP APPLICATION

PART NO. #TUBES FITS FIBERGLASS CHANNEL TRAY

2C-DW-3/4-2-8910-3-1S 2 40" (35" 1D.)

2C-DW-3/4-3-8910-3-1S 3

2C-DW-3/4-4-8910-3-1S 4 6.0" (5.5" 1.D.)

2C-DW-3/4-5-8910-3-1S 5

2C-DW-3/4-6-8910-3-1S 6

2C-DW-3/4-7-8910-3-1S 7 8.0" (7.5"I.D.)

2C-DW-3/4-8-8910-3-1S 8

2C-DW-3/4-9-8910-3-1S 9

2C-DW-3/4-10-8910-3-1S 10 10.0" (9.5" I.D.) Contact: info@versa-clamp.us

2C-DW-3/4-11-8910-3-1S 11 Visit www.versa-clamp.us
7.5




